[N of simulated tracks vs dxy(PV) ] N of associated tracks (simToReco) vs dxy(PV) |

g A

o = r

2 = F

§ §103:—

[ s F

g F

1022—

Ul ? HHHU?\ MM'\”” H”H H\H“HH E

14 ’ |: Y &

I uHhHmHHH |||HHs H||\||Hm\H\u\nHuﬂmn\m S |

25-20 0 -25-20-15-10 -5 0 5 10 15 20 25
TP dxy PV) (cm) TP dxy(PV) (cm)

—=— DQM_V0001_R000000001__Global__cmssw1000time__RECO
—— DQM_V0001_R000000001__Global__mkFitNewOLD1000time__RECO
[[Nof sim] —— DQM_v0001_R000000001__Global__mkFitNewBins2DC1000time_ RECO

1] 1J F
Q@ o E
s E F
5 g0'E
2 s f
3 2 4
< S 10°F
= 3 E
x F
10°F
10F
: e : Lol 1
2 ‘ il | T 2 -
: | h" HU 'W :H . WuH H : HE
o i | \, o N
'”"\ \H \ il \H HMH H\H'"" -
. AL H un\lll\l Ll L S N 1 |
=1 6-04-02 0 02040608 1 '-1-0.8-0.6-0.4-0.2 0 02040608 1
TP dxy(PV) (cm) TP dxy(PV) (cm)
[N of simulated tracks vs dz(PV) ] [ Nof associated tracks (simToReco) vs dz(PV) ]
[} F [
o f a F
e 3 F F
G A0y S10°F
[2 E . S E
g F ¥ s
] [ : 2 .l
© 10°F- el peeses el eeses S 10°F
= E : o} E
E © r
10° E 10% 3
102 10k
10 1
o I S iF
© o
© & osf
m 0.6 <=+ R | 11 Sl 111 peees
0930 20 10 20 30 30 =20 -i0 0 10 20 30
TP dz(PV) (cm) TP dz(PV) (cm)
[N of simulated tracks vs dz(PV) ] [N of associated tracks (simToReco) vs dz(PV) ]
[} F 2 F
o F . o F N N N
e Mo [ : : :
%1055_ N 81045_ """"""""" L “ M
o E © E . . .
2 » = f : : :
2 Mo s T : :
8 10°F §10°F 4o o (ARREAE ERRRERE i
= E . o} E N N
E . o x F . . .
10°F-+ 10°F : i i
F i N,
[ o I Y \ N N
0% s 10¢ : :
e : = : :
10 . 14+ 4 * ....... P e + 4
o L.V E - o 1 l
g : g 1 : B
1]' # T i 0o : :
0T 05 0 = Y]

0.5 ’ 0 0.5 1
TP dz(PV) (cm) TP dz(PV) (cm)



	Contents
	Page 1


